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No. 8 10 12 14 15 &% #HI=E
E F A WTF WTF WTF WTF WTF NEsz
24 i kokk ckkok ckkk kkk kkk 15 1 P
25 Z#  F#0 sokk kokk kkk kkk kkk 15 1 P
29 EAR E17 kokok ckkok okkk kkk kkk 15 1 P
33 |_]|lh GIE: 3 skokk kkk kkk kkk kkk 15 1 P
34 7 " kokok ckkok ckkk kkk kkk 15 1 P
37 121':&[555] E17 $kk kkk kkk kkk kkk 15 1 P
38 IR I sk kokk kkk kkk kkk 15 1 P
39 ja @ sk dokk kkok dokk kkk 15 1 P
40 BEH M sk kokk kkk kkk kkk 15 1 P
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25 Z%  &0F0 Kok * ok ok kK 8 17
29 BE {517 x 29
33 |_]|n7 GIEE skokokk okkk kkkk kK * 15 5P
34 AH K wkkk 4 8
37 17!_,';&[555] 51T kk  kkk kkkk kokkk kkkk 17 4 P
38 R I skkk kokkk  kkk kkkk kkkk 19 3 P
39 o @l skokkk kkk  kk kkk kkk 15 H P
40 FEH sokokok skl skkokk kkskk kkkk 200 1 P
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